EA=100Gib

HMEBERFR: M 2 £ 12 ABHS

| HAFE (Ftd) XEEEF S
HEX 1 ADCERE = -
(5 BIZ4+) (Imizft)
946.0000 FJ (FiA) 371.4700 F (FziA)
A om ~80mET
860.0000 F (Fitk) 337.7000 M (Fitk)
1,199.0000 M (F73A) 339.8450 F (FziA)
B 81m ~300m E£T
1,090.0000 M (Fiik) 308.9500 M (Fitk)
2,206.4790 M (FiA) 306.2620 F (FiiA)
C 301 m ~
2,005.8900 M (Fitk) 278.4200 M (Fitk)

KIEEMTEMCTRHBHE(BARB)NEFTATVES,
T 2 £ 12 AORAEHE - -96.32 [ (Fitk)

OHAMENHE
(5] 17ADERAZ 10 mMOHE--HekD B 28H

Bin#E = HER B OEANE + (CHEAEM)x B RREMSHME) GARBDERO
= 1090Mm+ (150 m x 30895 H)

= 5,724 H
HEREF = RlldE x HERE CRRBYHET)
EEEL]

5724 H x 10 %
= 572 {H

AZAHE = RIRHE + HERFHELE ARBIET
= 5724+ 572 A

= 6,296 M| — ZiEK%E




